Adv. Studies Theor. Phys., Vol. 8, 2014, no. 13, 589 - 597 HIKARI Ltd, www.m-hikari.com http://dx.doi.org/10.12988/astp.2014.4564

A Note on q-Analogue of Lambda-Daehee Polynomials

Yu Seon Jang

Department of Applied Mathematics Kangnam University Youngin 446-702, Republic of Korea

Hyuck In Kwon

Department of Mathematics Kwangwoon University Seoul 139-701, Republic of Korea

Seog-Hoon Rim

Department of Mathematics Education Kyungpook National University Taegu 702-701, Republic of Korea

Jong Jin Seo

Department of Applied Mathematics Pukyong National University Pusan 698-737, Republic of Korea

Copyright © 2014 Yu Seon Jang, Hyuck In Kwon, Seog-Hoon Rim and Jong Jin Seo. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Abstract

In this paper, we consider the q-analogue of lambda-Daehee polynomials and we give some new identities of these polynomials which are derived from p-adic invariant integral on \mathbb{Z}_p

Keywords: p-adic integral on \mathbb{Z}_p , lambda-Daehee polynomials, stirling numbers

1. Introduction

As is well known, the lambda-Daehee polynomials are defined by the generating function to be

$$\sum_{n=0}^{\infty} D_{n,\lambda}(x) \frac{t^n}{n!} = \frac{\lambda \log(1+t)}{(1+t)^{\lambda} - 1} (1+t)^x, \text{ (see [7])}.$$
 (1)

Let p be a fixed prime number. Throughout this paper, \mathbb{Z}_p , \mathbb{Q}_p , and \mathbb{C}_p will, respectively, denote the ring of p-adic rational integers, the field of p-adic rational numbers and the completion of the algebraic closure of \mathbb{Q}_p . The p-adic norm $|\cdot|$ is normalized as $|p|_p = 1/p$. Let $UD(\mathbb{Z}_p)$ be the space of uniformly differentiable functions on \mathbb{Z}_p , the p-adic invariant integral on \mathbb{Z}_p . For $f \in UD(\mathbb{Z}_p)$, the p-adic invariant integral on \mathbb{Z}_p is defined to be

$$I_{0}(f) = \int_{\mathbb{Z}_{p}} f(x) d\mu_{0}(x) = \lim_{N \to \infty} \sum_{x=0}^{p^{N}-1} f(x) \mu_{0}(x + p^{N} \mathbb{Z}_{p})$$

$$= \lim_{N \to \infty} \frac{1}{p^{N}} \sum_{x=0}^{p^{N}-1} f(x), \text{ (see [1-18])}.$$
(2)

By (2), we easily get

$$I_0(f_1) - I_0(f) = f'(0), \text{ (see [8, 10, 11])}$$
 (3)

where $f_1(x) = f(x+1)$.

From (3), we have

$$\int_{\mathbb{Z}_p} e^{xt} d\mu_0(x) = \frac{t}{e^t - 1} = \sum_{n=0}^{\infty} B_n \frac{t^n}{n!}, \text{ (see [1-8])},$$
(4)

where B_n are called the Bernoulli numbers.

In particular, the Bernoulli polynomials are given by

$$\int_{\mathbb{Z}_p} e^{(x+y)t} d\mu_0(y) = \frac{t}{e^t - 1} e^{xt} = \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!}.$$
 (5)

By (4) and (5), we get

$$B_n(x) = \sum_{\ell=1}^n \binom{n}{\ell} B_\ell x^{n-\ell}, \text{ (see [10-18])}.$$
 (6)

The Stirling number of the first kind is defined by the falling factorial sequence to be

$$(x)_n = x(x-1)\cdots(x-n+1) = \sum_{\ell=1}^n S_1(n,\ell)x^{\ell}, \ (n \in \mathbb{Z}_{\geq 0}).$$
 (7)

As is known, the Stirling number of the second kind is given by

$$(e^t - a)^n = n! \sum_{\ell=n}^{\infty} S_2(\ell, n) \frac{t^{\ell}}{\ell!}, \text{ (see [8, 16])}.$$
 (8)

In viewpoint of (1), we consider the q-analogue of lambda-Daehee polynomials and investigate some properties of those polynomials which are derived from the p-adic invariant integral on \mathbb{Z}_p .

2. Some identities for the higher-order q-Bernoulli polynomials of the second kind

In this section, we assume that $q, t \in \mathbb{C}_p$ with $|t|_p < |\frac{p^{\frac{1}{p-1}}}{q}|_p$ and $\lambda \in \mathbb{Z}_p$ with $\lambda \neq 0$. For $f(x) = (1+qt)^{\lambda x}$, by (3), we get

$$\int_{\mathbb{Z}_p} (1+qt)^{x+\lambda y} d\mu_0(y) = \frac{\lambda \log(1+qt)}{(1+qt)^{\lambda}} (1+qt)^x.$$
 (9)

In viewpoint of (1), we define the q-analogue lambda-Daehee polynomials as follows:

$$\frac{\lambda \log(1+qt)}{(1+qt)^{\lambda}} (1+qt)^{x} = \sum_{n=0}^{\infty} BD_{n,q}(x|\lambda) \frac{t^{n}}{n!}.$$
 (10)

When $x = 0, BD_{n,q}(\lambda) = BD_{n,q}(0|\lambda)$ are called the q-analogue of lambda-Daehee numbers.

Remark. Note that $\lim_{q\to 1} BD_{n,q}(x|\lambda) = D_{n,\lambda}(x)$.

From (9) and (10), we have

$$\sum_{n=0}^{\infty} BD_{n,q}(x|\lambda) \frac{t^n}{n!} = \int_{\mathbb{Z}_p} (1+qt)^{\lambda y+x} d\mu_0(y)$$

$$= \sum_{n=0}^{\infty} q^n \int_{\mathbb{Z}_p} (\lambda y+x)_n d\mu_0(y) \frac{t^n}{n!}.$$
(11)

Therefore, by (11), we obtain the following theorem.

Theorem 2.1. For n > 0, we have

$$q^n \int_{\mathbb{Z}_n} (x + \lambda y)_n d\mu_0(dy) = BD_{n,q}(x|\lambda).$$

By replacing qt by $e^t - 1$ in (10), we get

$$\sum_{n=0}^{\infty} q^{-n} B D_{n,q}(x|\lambda) \frac{(e^t - 1)^n}{n!} = \frac{\lambda t}{e^{\lambda t} - 1} e^{tx}$$

$$= \sum_{n=0}^{\infty} B_n\left(\frac{x}{\lambda}\right) \lambda^n \frac{t^n}{n!}.$$
(12)

and

$$\sum_{n=0}^{\infty} q^{-n} B D_{n,q}(x|\lambda) \frac{(e^t - 1)^n}{n!} = \sum_{n=0}^{\infty} q^{-n} B D_{n,q}(x|\lambda) \sum_{m=n}^{\infty} S_2(m,n) \frac{t^m}{m!}$$

$$= \sum_{m=0}^{\infty} \left(\sum_{n=0}^{m} q^{-n} B D_{n,q}(x|\lambda) S_2(m,n) \right) \frac{t^m}{m!}.$$
(13)

Therefore, by (12) and (13), we obtain the following theorem.

Theorem 2.2. For $m \ge 0$, we have

$$\sum_{n=0}^{m} q^{-n} BD_{n,q}(x|\lambda) S_2(m,n) = \lambda^m B_m\left(\frac{x}{\lambda}\right).$$

From Theorem 1, we have

$$q^{-n}BD_{n,q}(x|\lambda) = \sum_{\ell=0}^{n} S_1(n,\ell) \int_{\mathbb{Z}_p} (x+y\lambda)^{\ell} d\mu_0(y)$$

$$= \sum_{\ell=0}^{n} S_1(n,\ell)\lambda^{\ell} \int_{\mathbb{Z}_p} \left(\frac{x}{\lambda} + y\right)^{\ell} d\mu_0(y)$$

$$= \sum_{\ell=0}^{n} S_1(n,\ell)\lambda^{\ell} B_{\ell}\left(\frac{x}{\lambda}\right).$$
(14)

Theorem 2.3. For $n \geq 0$, we have

$$q^{-n}BD_{n,q}(x|\lambda) = \sum_{\ell=0}^{n} S_1(n,\ell)\lambda^{\ell}B_{\ell}\left(\frac{x}{\lambda}\right).$$

Let us consider the q-analogue of lambda-Daehee polynomals of order $k \in \mathbb{N}$ as follows:

$$q^{-n}BD_{n,q}^{(k)}(x|\lambda) = \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} \left(\lambda \sum_{i=1}^k x_i + x\right)_n d\mu_0(x_1) \cdots d\mu_0(x_k). \tag{15}$$

Thus, by (15), we get

$$q^{-n}BD_{n,q}^{(k)}(x|\lambda) = \sum_{\ell=1}^{n} S_1(n,\ell)\lambda^{\ell} \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} \left(\sum_{i=1}^{k} x_i + \frac{x}{\lambda}\right)^{\ell} d\mu_0(x_1) \cdots d\mu_0 y x_k.$$
(16)

Now, we observe that

$$\int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} e^{\left(\sum_{i=1}^k x_i + x\right)} d\mu_0(x_1) \cdots d\mu_0(x_k) = \left(\frac{t}{e^t + 1}\right)^k e^{xt}$$

$$= \sum_{n=0}^{\infty} B_n^{(k)}(x) \frac{t^n}{n!}.$$
(17)

where $B_n^{(k)}(x)$ are called Bernoulli polynomials of order k. By (17), we get

$$B_n^{(k)}(x) = \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} \left(\sum_{i=1}^k x_i + x \right)^n d\mu_0 \cdots d\mu_0(x_k).$$
 (18)

From (16) and (18), we have

$$q^{-n}BC_{n,q}^{(k)}(x|\lambda) = \sum_{\ell=1}^{n} S_1(n,\ell)\lambda^{\ell}B_{\ell}^{(k)}\left(\frac{x}{\lambda}\right).$$
 (19)

From (15), we can derive the generating function of $BD_{n,q}^{(k)}(x|\lambda)$ as follows:

$$\sum_{n=0}^{\infty} BD_{n,q}^{(k)}(x|\lambda) \frac{t^n}{n!} = \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (1+qt)^{\lambda \sum_{i=1}^k x_i + x} d\mu_0(x_1) \cdots d\mu_0(x_k)$$

$$= \left(\frac{\lambda \log(1+qt)}{(1+qt)^{\lambda} - 1}\right)^k (1+qt)^x.$$
(20)

by replacing qt by $e^t - 1$, we get

$$\sum_{n=0}^{\infty} q^{-n} B D_{n,q}^{(k)}(x|\lambda) \frac{1}{n!} (e^t - 1)^n = \left(\frac{\lambda t}{e^{\lambda t} - 1}\right)^k e^{xt}$$

$$= \sum_{n=0}^{\infty} B_n^{(k)} \left(\frac{x}{\lambda}\right) \lambda^n \frac{t^n}{n!}$$
(21)

and

$$\sum_{n=0}^{\infty} q^{-n} BD_{n,q}^{(k)}(x|\lambda) \frac{1}{n!} (e^t - 1)^n = \sum_{m=0}^{\infty} \left(\sum_{n=0}^m q^{-n} BD_{n,q}^{(k)}(x|\lambda) S_2(m,n) \right) \frac{t^m}{m!}.$$
(22)

Therefore, by (21) and (22), we obtain the following theorem.

Theorem 2.4. For $m \geq 0$, we have

$$\sum_{n=0}^{\infty} BD_{n,q}^{(k)}(x|\lambda)S_2(m,n)q^{-n} = \lambda^m B_m^{(k)}\left(\frac{x}{\lambda}\right).$$

For $n \geq 0$, the rising factorial sequence is defined by

$$x^{\underline{\mathbf{n}}} = x(x-1)\cdots(x-n+1) = (-1)^n(-x)_n$$

$$= \sum_{\ell=0}^n |S_1(n,\ell)| x^{\ell},$$
(23)

where $|S_1(n,l)| = (-1)^{n-l} S_1(n,\ell)$.

We consider the q-analogue of lambda-Daehee polynomials of the second kind as follows:

$$\widehat{BD}_{n,q}(x|\lambda) = q^n \int_{\mathbb{Z}_p} (-\lambda y + x)_n d\mu_0(y), \ (n \ge 0).$$
 (24)

From (24), we have

$$q^{n}\widehat{BD}_{n,q}(x|\lambda) = \sum_{\ell=0}^{n} S_{1}(n,\ell)(-1)^{\ell}\lambda^{\ell} \int_{\mathbb{Z}_{p}} \left(-\frac{x}{\lambda} + y\right)^{\ell} d\mu_{0}(y)$$

$$= \sum_{\ell=0}^{n} S_{1}(n,\ell)(-1)^{\ell}\lambda^{\ell} B_{\ell}\left(-\frac{x}{\lambda}\right).$$
(25)

When x = 0, $\widehat{BD}_{n,q}(\lambda) = \widehat{BD}_{n,q}(0|\lambda)$ are called the q-analogue of lambda-Daehee numbers of the second kind. The generating function of $\widehat{BD}_{n,q}(x|\lambda)$ is given by

$$\sum_{n=0}^{\infty} \widehat{BD}_{n,q}(x|\lambda) \frac{t^n}{n!} = \int_{\mathbb{Z}_p} (1+qt)^{-\lambda y+x} d\mu_0(y)$$

$$= \frac{\lambda \log(1+qt)}{(1+qt)^{\lambda}-1} (1+qt)^{\lambda+x}.$$
(26)

By replacing qt by $e^t - 1$, we get

$$\sum_{n=0}^{\infty} q^{-n} \widehat{BD}_{n,q}(x|\lambda) \frac{1}{n!} (e^t - 1)^n = \sum_{m=0}^{\infty} \lambda^m B_m \left(\frac{\lambda + x}{\lambda}\right) \frac{t^m}{m!}$$
 (27)

and

$$\sum_{n=0}^{\infty} \widehat{BD}_{n,q}(x|\lambda) \frac{q^{-n}}{n!} (e^t - 1)^n = \sum_{m=0}^{\infty} \left(\sum_{n=0}^m \widehat{BD}_{n,q}(x|\lambda) S_2(m,n) q^{-n} \right) \frac{t^m}{m!}.$$
 (28)

Therefore, by (27) and (28), we obtain the following theorem.

Theorem 2.5. For $m \ge 0$, we have

$$q^{-m}\widehat{BD}_{m,q}(x|\lambda) = \sum_{\ell=0}^{m} S_1(m,\ell)(-1)^{\ell} \lambda^{\ell} B_{\ell} \left(-\frac{x}{\lambda}\right)$$

and

$$\lambda^m B_m \left(\frac{\lambda + x}{\lambda} \right) = \sum_{n=0}^m \widehat{BD}_{n,q}(x|\lambda) S_2(m,n) q^{-n}.$$

For $k \in \mathbb{N}$, let us consider the q-analogue of lambda-Daehee polynomials of the second kind with order k as follwos:

$$\widehat{BD}_{n,q}^{(k)}(x|\lambda) = q^n \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} \left(-\lambda \sum_{i=1}^k x_i + x \right)_n d\mu_0(x_1) \cdots d\mu_0(x_k), \tag{29}$$

where $n \geq 0$.

From (29), we have

$$q^{-n}\widehat{BD}_{n,q}^{(k)}(x|\lambda) = \sum_{\ell=0}^{n} S_1(n,\ell)(-1)^{\ell} B_{\ell}^{(k)} \left(-\frac{x}{\lambda}\right) \lambda^{\ell}.$$
 (30)

The generating function of $\widehat{BD}_{n,q}^{(k)}(x|\lambda)$ is given by

$$\sum_{n=0}^{\infty} \widehat{BD}_{n,q}^{(k)}(x|\lambda) \frac{t^n}{n!} = \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (1+qt)^{-\lambda \sum_i = 1^k x_i + x} d\mu_0(x_1) \cdots d\mu_0(x_k)$$

$$= \left(\frac{\lambda \log(1+qt)}{(1+qt)^{\lambda}-1}\right)^k (1+qt)^{\lambda k + x}.$$
(31)

By replacing qt by $e^t - 1$ in (31), we get

$$\sum_{n=0}^{\infty} q^{-n} \widehat{BD}_{n,q}^{(k)}(x|\lambda) \frac{1}{n!} (e^t - 1)^n = \left(\frac{\lambda t}{e^{\lambda t} - 1}\right)^k e^{(\lambda k + x)t}$$

$$= \sum_{m=0}^{\infty} \lambda^m B_m^{(k)} \left(k + \frac{x}{\lambda}\right) \frac{t^m}{m!}$$
(32)

and

$$\sum_{n=0}^{\infty} q^{-n} \widehat{BD}_{n,q}^{(k)}(x|\lambda) \frac{1}{n!} (e^t - 1)^n = \sum_{m=0}^{\infty} \left(\sum_{n=0}^m \widehat{BD}_{n,q}^{(k)}(x|\lambda) S_2(m,n) q^{-n} \right) \frac{t^m}{m!}.$$
(33)

Therefore, by (32) and (33), we obtain the following theorem.

Theorem 2.6. Form ≥ 0 , we have

$$(-q)^m \widehat{BD}_{m,q}^{(k)}(x|\lambda) = \sum_{\ell=0}^m |S_1(m,\ell)| \lambda^{\ell} B_{\ell}^{(k)} \left(-\frac{x}{\lambda}\right)$$
 (34)

and

$$\lambda^{m} B_{m}^{(k)} \left(k + \frac{x}{\lambda} \right) = \sum_{n=0}^{m} \widehat{BD}_{n,q}^{(k)}(x|\lambda) S_{2}(m,n) q^{-n}.$$
 (35)

Now, we observe that

$$q^{-n}(-1)^{n} \frac{BD_{n,q}(x|\lambda)}{n!} = (-1)^{n} \int_{\mathbb{Z}_{p}} {x + \lambda y \choose n} d\mu_{0}(y)$$

$$= \int_{\mathbb{Z}_{p}} {-\lambda y - x + n - 1 \choose n} d\mu_{0}(y)$$

$$= \sum_{m=0}^{n} {n-1 \choose m-1} \int_{\mathbb{Z}_{p}} {-y\lambda - x \choose m} d\mu_{0}(y)$$

$$= \sum_{m=1}^{n} {n-1 \choose m-1} \frac{q^{-m} \widehat{BD}_{m,q}(-x|\lambda)}{m!}$$
(36)

and

$$(-1)^n q^{-n} \frac{\widehat{BD}_{n,q}(x|\lambda)}{n!} = \sum_{m=1}^n \binom{n-1}{m-1} \frac{BD_{m,q}(-x|\lambda)}{m!} q^{-m}.$$
 (37)

Therefore, by (36) and (37), we obtain the following theorem.

Theorem 2.7. For $n \geq 1$, we have

$$q^{-n}(-1)^n \frac{BD_{n,q}(x|\lambda)}{n!} = \sum_{m=1}^n \binom{n-1}{m-1} \frac{\widehat{BD}_{m,q}(-x|\lambda)}{m!} q^{-m}, \tag{38}$$

and

$$q^{-n}(-1)^n \frac{\widehat{BD}_{n,q}(x|\lambda)}{n!} = \sum_{m=1}^n \binom{n-1}{m-1} \frac{\widehat{BD}_{m,q}(-x|\lambda)}{m!} q^{-m}.$$
 (39)

References

- [1] A. Bayad and T. Kim, identities involving values of Bernstein, q-Bernoullim and q-Euler polynomials, Russ. J. Math. Phys. 18 (2011), no. 2, 133–143.
- [2] D. Blackmore, J. Golenia, A. K. Prykarpatsky, and Y. Prykarpatsky, A Invariant measures for discrete dynamical systems and ergodic properties of generalized Boole-type transformations, *Ukrainian Math. J.* 65 (2013), no. 1, 47–63.
- [3] D. Ding, V. Kurt, S. H. Rim, and Y. Simsek, Some identities related to the Apostol-Euler and Apostol-Bernoulli polynomials, *Adv. Stud. Contemp. Math.* 20 (2010), no. 1, 7–21.
- [4] S. Gaboury, R. Tremblay and B. J. Fugere, Some explicit formulas for certain new classes of Bernoulli, Euler and Genocchi polynomials, *Proc. Jangjeon Math. Soc.* 17 (2014), no. 1, 115–123.
- [5] K. W. Hwang, D. V. Dolgy, D. S. Kim, T. Kim, and S. H. Lee, Some theorems on Bernoulli and Euler numbers, *Ars Combin.* 109 (2013), 285–297.
- [6] D. Kang, J. Jeong, S. J. Lee, and S. H. Rim, A note on the Bernoulli polynomials arising from a non-linear differential equation, *Proc. Jangjeon Math. Soc.* 16 (2013), no. 1, 37–43.
- [7] D. S. Kim, T. Kim, S. H. Lee, and J. J. Seo, A note on the lambda-Daehee polynomials, *Int. Jorunal of Math. Analysis* 7 (2013), no. 62, 3069–3080.

- [8] D. S. Kim and T. Kim, A note on Boole polynomials, *Integral Transforms Spec. Funct.* 25 (2014), no. 8, 627–633.
- [9] D. S. Kim and T. Kim, Daehee numbers and polynomials, emphAppl. Math. Sci. (Ruse) 7 (2013), no. 117-120, 5969-5976.
- [10] D. S. Kim, T. Kim and J. J. Seo, Higher-order Daehee polynomials of the first kind with umbral calculus, *Adv. Stud. Contemp. Math.* 24 (2014), no. 1, 5–18.
- [11] T. Kim, q-Volkenborn integration, Russ. J. Math. Phys. 24 (2002), no. 3, 288–299.
- [12] T. Kim, D. S. Kim, A. Bayad, and S. H. Rim, Identities on the Bernoulli and the Euler numbers and polynomials, *Ars Combin.* 107 (2012), 455–463.
- [13] H. Ozden, I. N. Cangul and Y. Simsek, Remarks on q-Bernoulli numbers associated with Daehee numbers, Adv. Stud. Contemp. Math. 18 (2009), no. 1, 41–48.
- [14] J. /w. Park, S. H. Rim and J. Kwon, The twisted Daehee numbers and polynomials, Adv. Differ. Eq. 2014, 2014:1.
- [15] J. W. Park, S. H. Rim, J. Seo, and J. Kwon, A note on the modified q-Bernoulli polynomials, *Proc. Jangjeon Math. Soc.* 16 (2013, no. 4, 451–456.
- [16] S. Roman, The umbral calculus, Dover Pub. Inc., 1984.
- [17] Y. Simsek, S. H. Rim, L. C. Jang, D. J. Kang, and J. J. Seo, A note on q-Daehee sums, J. Anal. Comput. 1 (2005), no. 2, 151-160.
- [18] Y. Simsek, Generating functions of the twisted Bernoulli numbers and polynomials associated with their interpolation functions, *Adv. Stud. Contemp. Math.* 16 (2008), no. 2, 251–278.

Received: May 15, 2014